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Read the following passage and answer the question that follows :

[ know I'm not an ordinary ten-year-old kid. I mean sure, I do ordinary things. I eat ice
cream. I ride my bike. I play ball. [have an Xbox. Stuff like that makes me ordinary. I guess.
And I feel ordinary. Inside But I know ordinary kids don’t make other ordinary kids run away
screaming in playgrounds. I know ordinary kids don’t get stared at wherever they go.

If I found a magic lamp and I could have one wish, I would wish that I had a normal face
that no one ever noticed at all. I would wish that I could walk down the street without people
seeing me and then doing that look-away thing. Here’s what I think: the only reason I'm not
ordinary is that no one else sees me that way. But I'm kind of used to how I look by now. I know
how to pretend.

I don’t see the faces people make. We've all gotten pretty good at that sort of thing: me,
Mom, Dad Via. Actually, I take that back: Via’s not so good at it. She can get really annoyed
when people do something rude. Like, for instance, one time in the playground some older kids
made some noises. I don’t even know what the noises were exactly because I didn’t hear them
myself, but Via heard and she just started yelling at the kids. That’s the way she is. I'm not that
way.

What makes the 10-year-old narrator ordinary ?
(A) He rides his bike

(B) He plays ball

(C) He makes children run away

(D) He gets stared at

Choose the correct answer from the options given below :
(1) (A) only

(2) (©) only

(3) (A)and (B)

(4) (O and (D)

Options :

212807116941. 1

212807116942. 2

212807116943. 3
212807116944. 4
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Read the following passage and answer the question that follows :

[ know I'm not an ordinary ten-year-old kid. I mean sure, I do ordinary things. I eat ice
cream. I ride my bike. I play ball. [have an Xbox. Stuff like that makes me ordinary. I guess.
And I feel ordinary. Inside But I know ordinary kids don’t make other ordinary kids run away
screaming in playgrounds. I know ordinary kids don’t get stared at wherever they go.

If I found a magic lamp and I could have one wish, I would wish that I had a normal face
that no one ever noticed at all. I would wish that I could walk down the street without people
seeing me and then doing that look-away thing. Here’s what I think: the only reason I'm not
ordinary is that no one else sees me that way. But I'm kind of used to how I look by now. I know
how to pretend.

I don’t see the faces people make. We've all gotten pretty good at that sort of thing: me,
Mom, Dad Via. Actually, I take that back: Via’s not so good at it. She can get really annoyed
when people do something rude. Like, for instance, one time in the playground some older kids
made some noises. I don’t even know what the noises were exactly because I didn’t hear them
myself, but Via heard and she just started yelling at the kids. That’s the way she is. I'm not that
way.

What is the antonym of ‘stared at” ?
(1) exposed

(2) ignored

(3) given away

(4) pretend

Options :

212807116945. 1
212807116946. 2
212807116947. 3
212807116948. 4
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Read the following passage and answer the question that follows :

[ know I'm not an ordinary ten-year-old kid. I mean sure, I do ordinary things. I eat ice
cream. I ride my bike. I play ball. [have an Xbox. Stuff like that makes me ordinary. I guess.
And I feel ordinary. Inside But I know ordinary kids don’t make other ordinary kids run away
screaming in playgrounds. I know ordinary kids don’t get stared at wherever they go.

If I found a magic lamp and I could have one wish, I would wish that I had a normal face
that no one ever noticed at all. I would wish that I could walk down the street without people
seeing me and then doing that look-away thing. Here’s what I think: the only reason I'm not
ordinary is that no one else sees me that way. But I'm kind of used to how I look by now. I know
how to pretend.

I don’t see the faces people make. We've all gotten pretty good at that sort of thing: me,
Mom, Dad Via. Actually, I take that back: Via’s not so good at it. She can get really annoyed
when people do something rude. Like, for instance, one time in the playground some older kids
made some noises. I don’t even know what the noises were exactly because I didn’t hear them
myself, but Via heard and she just started yelling at the kids. That’s the way she is. I'm not that
way.

Why do you think the narrator is unlike any other ordinary kid ?
(1) Because he has a protective sister

(2) Because he has an Xbox

(3) He feels ordinary inside

(4) Because he has a facial deformity

Options :
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Read the following passage and answer the question that follows :

[ know I'm not an ordinary ten-year-old kid. I mean sure, I do ordinary things. I eat ice
cream. I ride my bike. I play ball. [have an Xbox. Stuff like that makes me ordinary. I guess.
And I feel ordinary. Inside But I know ordinary kids don’t make other ordinary kids run away
screaming in playgrounds. I know ordinary kids don’t get stared at wherever they go.

If I found a magic lamp and I could have one wish, I would wish that I had a normal face
that no one ever noticed at all. I would wish that I could walk down the street without people
seeing me and then doing that look-away thing. Here’s what I think: the only reason I'm not
ordinary is that no one else sees me that way. But I'm kind of used to how I look by now. I know
how to pretend.

I don’t see the faces people make. We've all gotten pretty good at that sort of thing: me,
Mom, Dad Via. Actually, I take that back: Via’s not so good at it. She can get really annoyed
when people do something rude. Like, for instance, one time in the playground some older kids
made some noises. I don’t even know what the noises were exactly because I didn’t hear them
myself, but Via heard and she just started yelling at the kids. That’s the way she is. I'm not that
way.

What does the narrator wish to ask the magic lamp ?
(1) to have a normal life

(2) to make people walk away

(3) to have a normal face

(4) to yell at other kids

Options :
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Read the following passage and answer the question that follows :

[ know I'm not an ordinary ten-year-old kid. I mean sure, I do ordinary things. I eat ice
cream. I ride my bike. I play ball. [have an Xbox. Stuff like that makes me ordinary. I guess.
And I feel ordinary. Inside But I know ordinary kids don’t make other ordinary kids run away
screaming in playgrounds. I know ordinary kids don’t get stared at wherever they go.

If I found a magic lamp and I could have one wish, I would wish that I had a normal face
that no one ever noticed at all. I would wish that I could walk down the street without people
seeing me and then doing that look-away thing. Here’s what I think: the only reason I'm not
ordinary is that no one else sees me that way. But I'm kind of used to how I look by now. I know
how to pretend.

I don’t see the faces people make. We've all gotten pretty good at that sort of thing: me,
Mom, Dad Via. Actually, I take that back: Via’s not so good at it. She can get really annoyed
when people do something rude. Like, for instance, one time in the playground some older kids
made some noises. I don’t even know what the noises were exactly because I didn’t hear them
myself, but Via heard and she just started yelling at the kids. That’s the way she is. I'm not that
way.

Who notices the faces and noises people make at the narrator ?

(1) Mom
(2) Dad
(3) The narrator
(4) Via
Options :
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212807116959. 3
212807116960. 4
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Read the following passage and answer the question that follow :
She ate a few mouthfuls of food and drank a cup of milk. But she lighted no fire, and when night
came, no candle, but crept with her baby to bed.

What woke her ? The wonder was that she had slept-she had not meant to. But she was
young, very young. Perhaps the shrinking of the galvanized roof-yet hardly, since that was so
usual. Something had set her heart beating wildly; but she lay quite still, only she put her arm over
her baby. Then she had both round it, and she prayed, “Little baby, little baby, don’t wake!”

The moon's rays shone on the front of the house, and she saw one of the open crackes, quite
close to where she lay, darken with a shadow. Then a protesting growl reached her; and she could
fancy she heard the man turn hastily. She plainly heard the thud of something striking the dog’s
ribs, and the long flying strides of the animal as it howled and ran. Still watching, she saw the
shadow darken every crack along the wall. She knew by the sounds that the man was trying
every standpoint that might help him to see in; but how much he saw she could not tell. She
thought of many things she might do to deceive him into the idea that she was not alone. But the
sound of her voice would wake baby, and she dreaded that as though it were the only danger that
threatened her. So she prayed “Little baby, don’t wake don’t cry!”

The girl sees a shadow against which of the following sources of light ?
(1) fire

(2) candlelight

(3) awell lit roof

(4) moonlight

Options :
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Read the following passage and answer the question that follow :
She ate a few mouthfuls of food and drank a cup of milk. But she lighted no fire, and when night
came, no candle, but crept with her baby to bed.

What woke her ? The wonder was that she had slept-she had not meant to. But she was
young, very young. Perhaps the shrinking of the galvanized roof-yet hardly, since that was so
usual. Something had set her heart beating wildly; but she lay quite still, only she put her arm over
her baby. Then she had both round it, and she prayed, “Little baby, little baby, don’t wake!”

The moon's rays shone on the front of the house, and she saw one of the open crackes, quite
close to where she lay, darken with a shadow. Then a protesting growl reached her; and she could
fancy she heard the man turn hastily. She plainly heard the thud of something striking the dog’s
ribs, and the long flying strides of the animal as it howled and ran. Still watching, she saw the
shadow darken every crack along the wall. She knew by the sounds that the man was trying
every standpoint that might help him to see in; but how much he saw she could not tell. She
thought of many things she might do to deceive him into the idea that she was not alone. But the
sound of her voice would wake baby, and she dreaded that as though it were the only danger that
threatened her. So she prayed “Little baby, don’t wake don’t cry!”

Match the characters in List-I with the corresponding activity in List-II.
List-I List-I1

(A) Baby (I)  Running
(B) Dog (II) Creeping
(C) Man (IIT) Sleeping
(D) Narrator (IV) Praying

Choose the correct answer from the options given below :
(1) (A)-(1), (B)-(D), (O)-(1D), (D)-(IV)
(2)  (A)-(), (B)-(I), (O)-IV), (D)-(ID)
(3)  (A)-(D), B)-IV), (©)-(1), (D)-(T)
(4 (A)-IV), (B)-(1D), (C)-(D), (D)-(I1)

Options :

212807116965. 1
212807116966. 2
212807116967. 3
212807116968. 4

Question Number : 8 Question Id : 21280729243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2




Read the following passage and answer the question that follow :
She ate a few mouthfuls of food and drank a cup of milk. But she lighted no fire, and when night
came, no candle, but crept with her baby to bed.

What woke her ? The wonder was that she had slept-she had not meant to. But she was
young, very young. Perhaps the shrinking of the galvanized roof-yet hardly, since that was so
usual. Something had set her heart beating wildly; but she lay quite still, only she put her arm over
her baby. Then she had both round it, and she prayed, “Little baby, little baby, don’t wake!”

The moon's rays shone on the front of the house, and she saw one of the open crackes, quite
close to where she lay, darken with a shadow. Then a protesting growl reached her; and she could
fancy she heard the man turn hastily. She plainly heard the thud of something striking the dog’s
ribs, and the long flying strides of the animal as it howled and ran. Still watching, she saw the
shadow darken every crack along the wall. She knew by the sounds that the man was trying
every standpoint that might help him to see in; but how much he saw she could not tell. She
thought of many things she might do to deceive him into the idea that she was not alone. But the
sound of her voice would wake baby, and she dreaded that as though it were the only danger that
threatened her. So she prayed “Little baby, don’t wake don’t cry!”

According to the passage, arrange the following experiences of the girl in the correct sequence.
(A) heart beating wildly

(B) sensing a hasty movement

(C) seeing a shadow

(D) going to sleep

(E) hearing a thud

Choose the correct answer from the options given below :

(1) (O, (B), (B), (A), (D)

(2 (A), (©), (B), (B), (D)
(3) (D) (A), ©), (B), E)
(4)  (B), (©), (A), (D), )
Options :

212807116969 1

212807116970. 2

212807116971. 3
212807116972. 4
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Read the following passage and answer the question that follow :
She ate a few mouthfuls of food and drank a cup of milk. But she lighted no fire, and when night
came, no candle, but crept with her baby to bed.

What woke her ? The wonder was that she had slept-she had not meant to. But she was
young, very young. Perhaps the shrinking of the galvanized roof-yet hardly, since that was so
usual. Something had set her heart beating wildly; but she lay quite still, only she put her arm over
her baby. Then she had both round it, and she prayed, “Little baby, little baby, don’t wake!”

The moon's rays shone on the front of the house, and she saw one of the open crackes, quite
close to where she lay, darken with a shadow. Then a protesting growl reached her; and she could
fancy she heard the man turn hastily. She plainly heard the thud of something striking the dog’s
ribs, and the long flying strides of the animal as it howled and ran. Still watching, she saw the
shadow darken every crack along the wall. She knew by the sounds that the man was trying
every standpoint that might help him to see in; but how much he saw she could not tell. She
thought of many things she might do to deceive him into the idea that she was not alone. But the
sound of her voice would wake baby, and she dreaded that as though it were the only danger that
threatened her. So she prayed “Little baby, don’t wake don’t cry!”

As per your reading of the passage, what is the source, of the woman’s discomfort ?
(A) Sheis feeling cold

(B) She is afraid the baby will wake up

(C) She is scared of the dog

(D) She is afraid of an attack

(E) She is unable to sleep

Choose the correct answer from the options given below :

(1) (B), (C) and (D) only

(2) (B) and (D) only
(3) (A) and (E) only
(4) (C), (D), (E) only
Options :

212807116973. 1

212807116974. 2

212807116975. 3
212807116976. 4
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Read the following passage and answer the question that follow :
She ate a few mouthfuls of food and drank a cup of milk. But she lighted no fire, and when night
came, no candle, but crept with her baby to bed.

What woke her ? The wonder was that she had slept-she had not meant to. But she was
young, very young. Perhaps the shrinking of the galvanized roof-yet hardly, since that was so
usual. Something had set her heart beating wildly; but she lay quite still, only she put her arm over
her baby. Then she had both round it, and she prayed, “Little baby, little baby, don’t wake!”

The moon's rays shone on the front of the house, and she saw one of the open crackes, quite
close to where she lay, darken with a shadow. Then a protesting growl reached her; and she could
fancy she heard the man turn hastily. She plainly heard the thud of something striking the dog’s
ribs, and the long flying strides of the animal as it howled and ran. Still watching, she saw the
shadow darken every crack along the wall. She knew by the sounds that the man was trying
every standpoint that might help him to see in; but how much he saw she could not tell. She
thought of many things she might do to deceive him into the idea that she was not alone. But the
sound of her voice would wake baby, and she dreaded that as though it were the only danger that
threatened her. So she prayed “Little baby, don’t wake don’t cry!”

Choose the word closet in meaning to “galvanized”
(1) heated up

(2) well lit
(3) moulded with a hammer
(4) coated

Options :
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Read the following passage and answer the question that follows :

Knowledge has many forms and it is available at many places. It is acquired through
education, information, intelligence and experience. It is available in academic institutions, with
teachers, in libraries, in research papers, seminar proceedings and in various organizations and
workplaces with workers, managers, in drawings, in process sheets and on the shop floors.
Knowledge, though closely linked to education, comes equally from learning skills such as those
possessed by our artists, craftsmen, hakims, vaidyas, philosophers and saints, as also our housewives.
Knowledge plays a very important role in their performance and output too. Our heritage and
history, the rituals, epics and traditions that form part our consciousness are also vast resources of
knowledge as are our libraries and universities. There is an abundance of unorthodox, earthy
wisdom in our villages. There are hidden treasures of knowledge in our environment, in the
oceans, bioreserves and deserts, in the plant and animal life. Every state in our country has a
unique core competence for a knowledge society.

How is knowledge acquired according to the author ?
(1) Through learning and applying concepts
(2) By getting skills and information
(3) Through hard work and sincerity
(4) By toiling day and night
Options :
212807116981. 1
212807116982. 2

212807116983. 3
212807116984. 4
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Read the following passage and answer the question that follows :

Knowledge has many forms and it is available at many places. It is acquired through
education, information, intelligence and experience. It is available in academic institutions, with
teachers, in libraries, in research papers, seminar proceedings and in various organizations and
workplaces with workers, managers, in drawings, in process sheets and on the shop floors.
Knowledge, though closely linked to education, comes equally from learning skills such as those
possessed by our artists, craftsmen, hakims, vaidyas, philosophers and saints, as also our housewives.
Knowledge plays a very important role in their performance and output too. Our heritage and
history, the rituals, epics and traditions that form part our consciousness are also vast resources of
knowledge as are our libraries and universities. There is an abundance of unorthodox, earthy
wisdom in our villages. There are hidden treasures of knowledge in our environment, in the
oceans, bioreserves and deserts, in the plant and animal life. Every state in our country has a
unique core competence for a knowledge society.

In the author’s opinion, knowledge is available :
(1) Only in books

(2) In the company of intelligent people

(3) All activities of daily life

(4) In our heritage and history

Options :
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Read the following passage and answer the question that follows :

Knowledge has many forms and it is available at many places. It is acquired through
education, information, intelligence and experience. It is available in academic institutions, with
teachers, in libraries, in research papers, seminar proceedings and in various organizations and
workplaces with workers, managers, in drawings, in process sheets and on the shop floors.
Knowledge, though closely linked to education, comes equally from learning skills such as those
possessed by our artists, craftsmen, hakims, vaidyas, philosophers and saints, as also our housewives.
Knowledge plays a very important role in their performance and output too. Our heritage and
history, the rituals, epics and traditions that form part our consciousness are also vast resources of
knowledge as are our libraries and universities. There is an abundance of unorthodox, earthy
wisdom in our villages. There are hidden treasures of knowledge in our environment, in the
oceans, bioreserves and deserts, in the plant and animal life. Every state in our country has a
unique core competence for a knowledge society.

Why does the author feel that our history is a vast resource of knowledge ?
(1) Because it is easily available in books.

(2) History can teach us important things about life.

(3) We can learn about kings and queens and their lives.

(4) Because all people have a deep interest in history.

Options :

212807116989. 1
212807116990. 2
212807116991. 3
212807116992. 4
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Read the following passage and answer the question that follows :

Knowledge has many forms and it is available at many places. It is acquired through
education, information, intelligence and experience. It is available in academic institutions, with
teachers, in libraries, in research papers, seminar proceedings and in various organizations and
workplaces with workers, managers, in drawings, in process sheets and on the shop floors.
Knowledge, though closely linked to education, comes equally from learning skills such as those
possessed by our artists, craftsmen, hakims, vaidyas, philosophers and saints, as also our housewives.
Knowledge plays a very important role in their performance and output too. Our heritage and
history, the rituals, epics and traditions that form part our consciousness are also vast resources of
knowledge as are our libraries and universities. There is an abundance of unorthodox, earthy
wisdom in our villages. There are hidden treasures of knowledge in our environment, in the
oceans, bioreserves and deserts, in the plant and animal life. Every state in our country has a
unique core competence for a knowledge society.

How is knowledge hidden in nature ?

(1) Nature hides many secrets in itself.

(2) Observing nature can help us see the inter-relation.

(3) Oceans, deserts, plants and animal life teach us lessons about life.
(4) The desert teachers us how to overcome challenges.

Options :

212807116993. 1
212807116994. 2
212807116995. 3
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Read the following passage and answer the question that follows :

Knowledge has many forms and it is available at many places. It is acquired through
education, information, intelligence and experience. It is available in academic institutions, with
teachers, in libraries, in research papers, seminar proceedings and in various organizations and
workplaces with workers, managers, in drawings, in process sheets and on the shop floors.
Knowledge, though closely linked to education, comes equally from learning skills such as those
possessed by our artists, craftsmen, hakims, vaidyas, philosophers and saints, as also our housewives.
Knowledge plays a very important role in their performance and output too. Our heritage and
history, the rituals, epics and traditions that form part our consciousness are also vast resources of
knowledge as are our libraries and universities. There is an abundance of unorthodox, earthy
wisdom in our villages. There are hidden treasures of knowledge in our environment, in the
oceans, bioreserves and deserts, in the plant and animal life. Every state in our country has a
unique core competence for a knowledge society.

Why is every state in India unique ?

(1) Because people who live there are unique

(2) Because law and order situation is different in each state
(3) Because each state has a different cultural heritage

(4) Because some states are given priority over others

Options :
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Choose the correct option which best expresses the following sentence in Active Voice :
He was appointed chairman.

(1) They appointed him chairman

(2) You appointed him chairman

(3) He appointed chairman

(4) Chairman appointed him

Options :
212807117001 1
212807117002. 2

212807117003. 3
212807117004. 4

Question Number : 17 Question Id : 21280729252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct option which best expresses the following sentence in Passive Voice.
My father will write a letter.
(1) A letter was written by my father.
(2) A letter will have been written by my father
(3) A letter is neither by my father
(4) A letter will be written by my father
Options :
212807117005. 1
212807117006. 2

212807117007. 3
212807117008. 4

Question Number : 18 Question Id : 21280729253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct option which best expresses the following same sentence in Indirect speech.
Anil said, “Ali deserved the prize”.
(1) Anil says that Ali deserves the prize.
(2) Anil said that Ali deserves the prize.
(3) Anil said that Ali has deserved the prize.
(4) Anil said that Ali had deserved the prize.
Options :
212807117009. 1
212807117010. 2

212807117011. 3
212807117012. 4

Question Number : 19 Question Id : 21280729254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the option which best expresses the following sentence in Direct speech :
The speaker said that two wrongs do not make a right.
(1) The speaker said, “Two wrongs do not make a right”.
(2) The speaker said, “Don’t make two wrongs right”.
(3) The speaker said, “What wrongs ! did not make right
(4) The speaker said , “Two wrongs and not to make a right”.
Options :
212807117013, 1
212807117014. 2

212807117015. 3
212807117016. 4

Question Number : 20 Question Id : 21280729255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the various parts of the following sentence in the correct order.
(A) and the coronation od many

(B) have occurred here

(C) westminister Abbey is a large Gothic church

(D) English and British Monarchs

From the given list choose the most appropriate re-arrangement :

(1) (B), (A), (Q), (D)

(2) (), (A), (D), (B)
(3) (&) (B), (D) (©)
4) (D) (©), (B), (A)
Options :

212807117017. 1
212807117018.2
212807117019. 3
212807117020. 4



Question Number : 21 Question Id : 21280729256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are four jumbled segments. Select the option that gives their correct order :
(A) the habit of drifting through

(B) or a definite plan for attaining it

(C) the first one is

(D) life without a definite purpose

Choose the correct answer from the options given below :

(1) (©), A), B), (D)

2)  (©), (B), (A), (D)
(3) Q) (A), (D). (B)
(4)  (A) (©), (B), (D)
Options :

212807117021. 1
212807117022.2
212807117023. 3
212807117024. 4

Question Number : 22 Question Id : 21280729257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the correct meaning for the underlined words.

The Mayor appointed an ad hoc committee to study the project.
(1) Concerned with Municipal Commisssion.

(2) Concerned with Elected member.

(3) Concerned with a particular purpose only.

(4) Concerned with cleaning of Municipal Area.

Options :
212807117025. 1
212807117026. 2

212807117027. 3
212807117028. 4

Question Number : 23 Question Id : 21280729258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct meaning(s) for the following word : “Malafide”
(A) after death

(B) in remembrance

(C) in bad faith

(D) with deception

(E) in good faith

Choose the correct answer from the options given below :

(1) (A) and (E) only

(2) (B) and (E) only
(3) (C) only

(4) (C) and (D) only
Options :

212807117029. 1
212807117030. 2
212807117031. 3
212807117032. 4

Question Number : 24 Question Id : 21280729259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct synonym of the given word from the options below :
“Accede”

(1) disagree

(2) consent

(3) excess

(4) extra

Options :

212807117033. 1
212807117034.2
212807117035. 3
212807117036. 4

Question Number : 25 Question Id : 21280729260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the appropriate meaning of the word : DECIPHER
(A) Confuse

(B) Decode

(C) Negate

(D) Interpret

(E) Inadequate

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B)and (C) only

(3) (C) and (E) only

(4) (B) and (D) only

Options :

212807117037. 1

212807117038. 2

212807117039. 3
212807117040. 4

Question Number : 26 Question Id : 21280729261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the sentence that does not have the articles placed correctly :
(1) This is a same pen that I borrowed from you last week.

(2) Maya is most likely the person to lead us.

(3) I will not be having breakfast today.

(4) Suyesh will be moving to a European city next month.

Options :

212807117041. 1
212807117042.2
212807117043. 3
212807117044. 4

Question Number : 27 Question Id : 21280729262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From the options given below fill in the blanks with appropriate articles.

COw is noble animal.
(1) the, an
(2) a, an
(3) a, a
(4) an, a
Options :

212807117045. 1
212807117046. 2
212807117047. 3
212807117048. 4



Question Number : 28 Question Id : 21280729263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select the most appropriate Exclamatory form of the sentence :
It was very foolish of me to throw my mobile.
(1) How foolish I am that I threw my mobile!
(2) Iama fool to throw my mobile!
(3) AmI that foolish to throw my mobile!
(4) How foolish of me to throw my mobile!
Options :
212807117049. 1
212807117050. 2

212807117051. 3
212807117052. 4

Question Number : 29 Question Id : 21280729264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select the most appropriate Exclamatory form of the sentence given below :
I wish I were an astronaut.
(1) I wish that [ was an astronaut!
(2) I wish that I could be an astronaut!
(3) Oh that I were an astronaut!
(4) Alas! I were an astronaut!
Options :
212807117053, 1
212807117054. 2

212807117055. 3
212807117056. 4

Question Number : 30 Question Id : 21280729265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fill in the blank with the most appropriate preposition :

Children are attracted anything that glitters.
(1) By

(2) Towards

(3) To

(4) With

Options :

212807117057. 1
212807117058. 2
212807117059. 3
212807117060. 4



Question Number : 31 Question Id : 21280729266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Fill in the blank with a suitable Preposition :
The table is made wood

(1) of

(2) by

(3) with

(4) in
Options :

212807117061. 1
212807117062. 2
212807117063. 3
212807117064. 4

Question Number : 32 Question Id : 21280729267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select the most appropriate Modal to be filled in the blank in the sentence given below :

I visit my friend daily when she was in the hospital.
(1) can
(2) wusedto
(3) should
(4) could
Options :

212807117065. 1
212807117066. 2
212807117067. 3
212807117068. 4

Question Number : 33 Question Id : 21280729268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the appropriate Modal to fill in the blank in the sentence given below :
Since the remote is with my mother, 1 not switch on the T.V.
(1) could
(2) would
(3) might
(4) can
Options :
212807117069 1

212807117070. 2
212807117071. 3



212807117072. 4

Question Number : 34 Question Id : 21280729269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A letter to the Editor is a letter.
(1) Informal

(2) Non formal

(3) Formal

(4) Personal
Options :

212807117073. 1
212807117074.2
212807117075. 3
212807117076. 4

Question Number : 35 Question Id : 21280729270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Choose the correct option :
In a formal letter we write sincerely.

(1) Your
(2) vyour's
(3) yours
(4) you

Options :

212807117077. 1
212807117078. 2
212807117079. 3
212807117080. 4

Question Number : 36 Question Id : 21280729271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Parts of the following sentence are given as options. Identify the segment that contains a grammatical
error :

(1) scarcely did I reach the station

(2) mnervous and tense than the train sped away
(3) leaving me lonely in a strange place

(4) No error

Options :

212807117081. 1
212807117082. 2
212807117083. 3
212807117084 4



Question Number : 37 Question Id : 21280729272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Parts of the following sentence are given as options. Identify the segment that containsa grammatical
error :
(1) your short story should feature a protagonist
(2) who undergoes a challenging situation
(3) which result in new learning
(4) as self discovery of some kind
Options :
212807117085. 1
212807117086. 2

212807117087. 3
212807117088. 4

Question Number : 38 Question Id : 21280729273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Complete the following sentence by using a appropriate phrasal verb :
We must try to poverty from the country.

(1) Wipe out

(2) Turn over

(3) Stand by
(4) Turn up
Options :

212807117089. 1
212807117090. 2
212807117091. 3
212807117092. 4

Question Number : 39 Question Id : 21280729274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Complete the sentence by using an appropriate phrasal verb :

A committee was set up to the problem.
(1) Look for

(2) Look into

(3) Look after

(4) Look up

Options :

212807117093. 1
212807117094. 2
212807117095. 3
212807117096. 4



Question Number : 40 Question Id : 21280729275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List-I with List-II.
List-I List-I1
(A) Weather (I) Making no noise
(B) Whether I It
(©) Quiet (III) Wholly or completely
(D)  Quite (IV) Climate

Choose the correct answer from the options given below :

(1) (A)-@), (B)-(I), (©O)-(I10), (D)-(IV)
(2)  (A)-(IV), (B)-(ID), (C)-(D), (D)~(IIT)
(3)  (A)-IID), (B)-(II), (O)-(V), (D)-(D)
(4)  (A)-10), (B)-(IV), (C)-(1I), (D)-(T)
Options :

212807117097. 1

212807117098. 2

212807117099. 3
212807117100. 4

Question Number : 41 Question Id : 21280729276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following segments to create a meaningful :
(A) of a great amphitheatre of hills

(B) of any kind in sight

(C) I was sitting on the south edge

(D) without a habitation

Choose the correct answer from the options given below :
(1) (©), (&), D), (B)

(2)  (©), (D), (A), (B)
(3)  (©) (&), (B), (D)
(4)  (A) (©), (B), (D)
Options :

212807117101. 1
212807117102.2
212807117103. 3
212807117104. 4

Question Number : 42 Question Id : 21280729277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the appropriate Antonym of the word - CESSATION
(1) intermisssion
(2) hinderance
(3) exaggeration
(4) perpetuation
Options :
212807117105. 1
212807117106. 2

212807117107. 3
212807117108. 4

Question Number : 43 Question Id : 21280729278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Select the appropriate Antonym of the word HAGGARD

(A) Robust

(B) Emaciated

(C) Gaunt

(D) Lively

(E) Heinous

Choose the correct answer from the options given below :
(1) (A)and (C) only
(2) (A)and (D) only
(3) (B) and (E) only
(4) (C) and (D) only
Options :

212807117109. 1

212807117110. 2

212807117111. 3
212807117112. 4

Question Number : 44 Question Id : 21280729279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the sentence in which an Adverb of Manner has been used :
(1) She dances very skillfuly.
(2) My brother comes often every Sunday.
(3) He briefly narrated the incident to me.
(4) He goes usually to the movie every Friday.
Options :
212807117113 1
212807117114. 2

212807117115.3
212807117116. 4



Question Number : 45 Question Id : 21280729280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Replace the underlines words in List-I with a single Adverb from List-II

List-I List-II

(A) Interms of technique she is very competent. () Theoretically

(B) Itis reasonable and sensible that the money (II) Technically
should be divided between her sons.

(C) Itis possible that we could work on Sunday, (IIT) Traditionally
but we’d be exhausted.

(D) Itis the custom that the festival is held on (IV) Logically

the last weekend in May.
Choose the correct answer from the options given below :

(1) (A)-0), (B)-(I), (C)-(IV), (D)-(T)
(2)  (A)-(1V), (B)-(IID), (C)-(IT), (D)-(T)
(3)  (A)-), (B)-(IV), (C)-(D), (D)~(IIT)
(4)  (A)-(D), (B)-(I), (C)-(1V), (D)-(IT)
Options :

212807117117. 1

212807117118.2

212807117119. 3
212807117120. 4

Question Number : 46 Question Id : 21280729281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the appropriate question tag for the given sentence :
It looks perfect here.
(1) 1isit?
(2) isn'tit?
(3) doesit?
(4) doesn'tit?
Options :
212807117121. 1
212807117122.2

212807117123.3
212807117124. 4

Question Number : 47 Question Id : 21280729282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the correct option to make the (grammatically correct) sentence.
we had to cancel the trip.
1) Being a rainy day
2) Having been a rainy day
) It had been a rainy day
(4) It being a rainy day
Options :
212807117125. 1
212807117126. 2

212807117127. 3
212807117128. 4

Question Number : 48 Question Id : 21280729283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the most appropriate meaning of the following idiom :
CROSSING THE RUBICON

(1) Crossing swords with someone

(2) To reach a point of no return

(3) To be put in an uncomfortable situation

(4) To make some one angry

Options :

212807117129. 1
212807117130. 2
212807117131. 3
212807117132. 4

Question Number : 49 Question Id : 21280729284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the most appropriate meaning of the given idiom :
helter skelter

(1) in the shelter

(2) to defend some one

(3) here and there

(4) to be nervous

Options :

212807117133. 1
212807117134.2
212807117135.3
212807117136. 4

Question Number : 50 Question Id : 21280729285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehensi0n |MCQ

Identify the Adjective clause in the following sentence :
A man whose habits are industrious, is sure to succeed.
(1) A man
(2) is sure to succeed
(3) whose habits are industrious
(4) issure
Options :
212807117137. 1
212807117138.2

212807117139. 3
212807117140. 4
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Question Number : 51 Question Id : 21280729286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When was the capital of Magadha shifted from Rajagaha to Pataliputra ?
(1) Sixth century BCE

(2) Fifth century BCE

(3) Fourth century BCE

(4) Third century BCE

Options :
212807117141. 1



212807117142.2
212807117143.3
212807117144. 4

Question Number : 51 Question Id : 21280729286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el Y o] TSI TS § qIEei s ST g8 2
(1) B3 TamEr £

(2) el SR $.

(3) el wraTerel €9

(4) 0 wEEET .9

Options :

212807117141. 1
212807117142.2
212807117143.3
212807117144. 4

Question Number : 52 Question Id : 21280729287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following composed ‘Prayaga Prashasti’ in Sanskrit ?
(1) Krishna

(2) Samudra Gupta

(3) Harshvardhana

(4) Harishena

Options :

212807117145. 1
212807117146. 2
212807117147. 3
212807117148. 4

Question Number : 52 Question Id : 21280729287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
=78 O foram depa # ‘wam g’ &6t @ ?
(1) ™

(2) wHIW
(3) wHaHA
(4) BREm

Options :



212807117145. 1
212807117146.2
212807117147. 3
212807117148. 4

Question Number : 53 Question Id : 21280729288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Buddhist and Jaina texts attribute the power of Magadha to the policies of which of the following
rulers ?

(A) Bimbisara

(B) Chandragupta

(C) Ajatasattu

(D) Mahapadma Nanda

(E) Asoka

Choose the correct answer from the options given below :

(1) (A) (©), (D) only

(2)  (B), (D), (E) only
(3)  (A), (C) (E) only
(4) (O, (D), (E) only

Options :

212807117149. 1
212807117150.2
212807117151. 3
212807117152. 4

Question Number : 53 Question Id : 21280729288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807117149. 1
212807117150.2
212807117151. 3
212807117152. 4

Question Number : 54 Question Id : 21280729289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following is a work on Sanskrit grammar ?
(1) Natyashastra
(2) Manusmriti
(3) Ashtadhyayi
(4) Sushruta Sambhitas
Options :
212807117153. 1
212807117154.2

212807117155.3
212807117156. 4

Question Number : 54 Question Id : 21280729289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TH B DA Thd S0 H T § 2

(1) eI

(2) \IH
(3)  STsITEATHT
(4) Hgd Hfew

Options :

2128071171531
212807117154.2
212807117155.3
212807117156. 4

Question Number : 55 Question Id : 21280729290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When was “Sanchi” declared as world Heritage Site ?
(1) 1989

(2) 1990

(3] 1992

(4) 1987

Options :



212807117157. 1
212807117158.2
212807117159. 3
212807117160. 4

Question Number : 55 Question Id : 21280729290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
it o fava kit e & =nfd foman @ 2
(1) 1989
(2) 1990
(3) 1992
(4) 1987

Options :

212807117157. 1
212807117158.2
212807117159. 3
212807117160. 4

Question Number : 56 Question Id : 21280729291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which of the following Buddhist texts do we find the Buddha’s teachings ?

(1) The Vinay Pitakas
(2) The Sutta Pitakas
(3) Mahavamsa

(4) Jataka

Options :

212807117161. 1
212807117162.2
212807117163. 3
212807117164. 4

Question Number : 56 Question Id : 21280729291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
7 @ g sirg w7 o g o1 fremd fyerd €2
(1) fora foes
(2) H9 ==
(3) HEE
(4) Sfdsh
Options :

212807117161. 1



212807117162.2
212807117163. 3
212807117164. 4

Question Number : 57 Question Id : 21280729292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the different stages of the discovering of Amaravati in a chronological order :

(A) In 1854, Walter Elliot visited Amaravati and collected several sculpture panels.

(B) The slabs from Amaravati were taken to different places like the India Office in Madras.
(C) A local Raja stumbled upon the ruins of the stupa at Amarvati.

(D) A British officer named Colin Mackenzie visited the site of Amaravati.

Choose the correct answer from the options given below :

1) (A, (©), B), D)

(2) (D), (©), (A), (B)
3) (O, D), (A), (B)
(4)  (B) (A), (O), (D)
Options :

212807117165. 1
212807117166. 2
212807117167. 3
212807117168. 4

Question Number : 57 Question Id : 21280729292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

FHTE i @Sl o frfafad =2l i wersharTaR SHard #i
(A) 1854 H, gfce sfeme 1 STHE! i a1 &1 3R %2 gfdar oiX ufgewd s fopm

(B) IHIEdl whi UfgehTd, HETH o YRA STithY Higd S16-31a SFel W o ST 71T Si9 T8 w1 5fea
HAMEHH |

(C) EJTHE TSl ST STHUS & &U o+ a9 fhed |
(D) wiferd Aok Aok Teh i3Sl YRR 7 STOred T i a1 i |

= fou fasedl § 9 TWel ST &1 999 & ¢
(1) (A), (©), (B), (D)
(2) (D), (Q), (A), (B

( (A), (B)
3) (O, D), (A), (B)
(4) (B) (A), (O, (D)
Options :

212807117165. 1

212807117166. 2

212807117167. 3
212807117168. 4



Question Number : 58 Question Id : 21280729293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose ‘True’ statements :

(A) Bodhisattas are compassionate beings who help others.

(B) Hinayana meant ‘great vehicle’ and Mahayana meant ‘Lesser vehicle’
(C) The Avatars were recognised with in the tradition of Vaishnavism.
(D) Shiva was symbolised by the ‘Linga’.

(E) The tall structure in temple is known as ‘Garbhgriha” and small square room called ‘Shikhara’.
Choose the correct answer from the options given below :

(1) (A), (B), (D) only

(2)  (B), (O, (D) only

(3) (©), (D), (E) only

(4)  (A), (O), (D) only

Options :

212807117169. 1

212807117170. 2

212807117171. 3
212807117172. 4

Question Number : 58 Question Id : 21280729293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TR FHUA HT =TI B

(A) Sfere o FE S S SHI GHL i HER o foTt 3o @ © 11

(B) AW = 1 ‘3= AR’ U1 T o 39 A A’ o

(C) domra qreed H STadr] sl HFar <f 7T |

(D) T3 =1 fdw & &9 H Hiekfae foran |

(B) Hfex o1 3o fewmn efrg srearan o iR Siet AR e fore” saerdr o
=i feu U fashedi | | T@r 3T 1 FIH H

(1) & (A), (B), (D)

e

(2) 9 (B), (C), (D)
(3) Had (O), (D), (E)
(4) wHad (A), (O), (D)
Options :

212807117169. 1
212807117170.2
212807117171. 3
212807117172. 4



Question Number : 59 Question Id : 21280729294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - I
List - 1 List - II
(A) Rajendra Lal Mitra (1878) ()  Bhilsa Topes
(B) A. Cunningham (1854) (I) The monuments of Sanchi
(©) J. Marshal & A.Foucher (1914) (III) Conservation Manual
(D) J. Marshal (1923) (IV) Buddha Gaya : The Heritage of Sakya Muni

Choose the correct answer from the options given below :
(1) (A)-D), B)-(0), (OIV), (D)-(I1)

(2)  (A)-IV), (B)-(ID), (O)-(), (D)-()
(3)  (A)-(IV), (B)-(D), (O-(II), (D)-(II)
(4)  (A4)-(I), (B)-(II), (O)-(111), (D)-(IV)

Options :

212807117173. 1
212807117174.2
212807117175. 3
212807117176. 4

Question Number : 59 Question Id : 21280729294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Tef-1 § GeAt-11 =1 et =
1:@"}.1 -11
(A) TS & fiasn (1878) ()  Toem wrE
(B) TU. e (1854) () ST i 3ARE
(C) . IR/ T8 TLHIR (1914) (III) B&AfAfd g
(D) . AR (1923) (IV) e 77 : e g st farad

=i fqu TTu foredi | | W&t I 1 =99

(1) (A)-D), (B)-I), (CO)~(1V), (D)~(II)
(2)  (A)-(1V), (B)-(IID), (O)-), (D)-(D)
(3)  (A)-(IV), (B)-(I), (O)-(II), (D)~(II)
(4)  (A)-(D), (B)-(II), (O)~(I1I), (D)-(IV)
Options :

212807117173. 1
212807117174.2
212807117175. 3
212807117176. 4

Question Number : 60 Question Id : 21280729295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which foreign traveller purchased “horses, camels and slaves” as gifts for Muhammad bin Tughlaq ?
(1) Al-Biruni
(2) Ibn Battuta
(3) Abd al-Razzaq
(4) Seydi Ali Reis
Options :
212807117177. 1
212807117178. 2

212807117179. 3
212807117180. 4

Question Number : 60 Question Id : 21280729295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

forer fareeft =l 5 gewe fom e & fag ' Hig, 32 &R e’ STer * foe wfi ?
(1) o1 foet

(2) =T gl

(3) 3Isgd ITSSieh

(4) G Il EE
Options :

212807117177. 1
212807117178.2
212807117179. 3
212807117180. 4

Question Number : 61 Question Id : 21280729296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following travellers was a historian, doctor and a political philosopher ?
(1) Ibn Battuta

(2) Jean-Baptist Tavernier

(3) Al-Biruni

(4) Francois Bernier

Options :

212807117181. 1
212807117182.2
212807117183. 3
212807117184. 4

Question Number : 61 Question Id : 21280729296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

e | | & Il u sfaermer, et oiR UsHifas feas o ?
(1) == addl
(2) SH - =fre qfafE
(3) & faedt
(4) T AR
Options :

212807117181. 1
212807117182.2
212807117183. 3
212807117184. 4

Question Number : 62 Question Id : 21280729297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At which of the following places was Lord Jagannath identified as the principal diety by the
twelth century ?

(1) Patna, Bihar
(2) Puri, Orissa
(3) Calcutta, West Bengal
(4) Bombay, Maharashtra

Options :

212807117185. 1
212807117186. 2
212807117187. 3
212807117188. 4

Question Number : 62 Question Id : 21280729297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

7= 1 & T Tom W arete vdas] 9% SAA-3A1d WEH S Sl @ gadl & §9 H 9eqd foean T ?
(1) T, faEr
(2) T8, s
(3) helhadl, YEEH S
(4) S, HERE
Options :
212807117185. 1
212807117186.2

212807117187. 3
212807117188. 4




Question Number : 63 Question Id : 21280729298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Gangakondacholapuram temple is dedicated to which deity ?
(1) Vishnu

(2) Indra

(3) Shiva

(4) Agni
Options :

212807117189. 1
212807117190. 2
212807117191. 3
212807117192. 4

Question Number : 63 Question Id : 21280729298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e i g S %) a3
(1)
(2)
3)

(4) &A=

Options :

212807117189. 1
212807117190. 2
212807117191. 3
212807117192. 4

Question Number : 64 Question Id : 21280729299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The Arab Muslim traders who settled along the Malabar coast adopted which among the following ?
(A) Malayalam language

(B) Tamil language

(C) Matriliny

(D) Patriliny

(E) Matrilocal residence

Choose the correct answer from the options given below :
(1) (A), (D), (E) only

(2)  (B). (D), (E) only

(3)  (A), (C), (E) only

(4)  (©), (D), (E) only

Options :

212807117193. 1
212807117194. 2
212807117195. 3
212807117196. 4

Question Number : 64 Question Id : 21280729299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

3d ke =il |, S HAER 92 T SR 99, S FErared J 9 fewent staam 2
(A) HATTH |l

(B) dfHeT wr

(C) HIg A=

(D) g werma

(B) "HFHd STamEr

e foredi o 9 Tt ST 1 997 Y

(1) %9 (A), (D), ()
(2) %ad (B), (D), (E)
(3) e (A), (©) (E)
(4) e (O), (D), (E)

Options :

212807117193. 1
212807117194.2
212807117195. 3
212807117196. 4

Question Number : 65 Question Id : 21280729300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Who among the following acted as a money-changer during the medieval India ?
(1) Shroff
(2) Patwari

(3) Amin
(4) Mugaddam
Options :

212807117197. 1
212807117198.2
212807117199. 3
212807117200. 4

Question Number : 65 Question Id : 21280729300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
et § 9 fopem wea sl wRd | G-g&aeon s o yfigent e ?
(1) #r®
(2) T
(3) e
(4) HhH
Options :

212807117197. 1
212807117198.2
212807117199. 3
212807117200. 4

Question Number : 66 Question Id : 21280729301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which Mughal emperor consciously made Persian as the leading language of the Mughal court ?
(1) Babur

(2) Humayun

(3) Akbar
(4) Shah Jahan
Options :

212807117201. 1
212807117202. 2
212807117203. 3
212807117204. 4

Question Number : 66 Question Id : 21280729301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




%[ H I MHE A HE-HHAR FEH! ol STER Sl AN A 2

(1) @R
(2) T
(3) 3TFR
(4) STESTEl

Options :

212807117201. 1
212807117202. 2
212807117203. 3
212807117204. 4

Question Number : 67 Question Id : 21280729302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who was driven from his central Asia homeland ‘Farghana” by the Uzbeks ?
(1) Ghenghiz Khan

(2) Zahiruddin Babur

(3) Sher Shah Sur

(4) Nasiruddin Humayun

Options :

212807117205. 1
212807117206. 2
212807117207. 3
212807117208. 4

Question Number : 67 Question Id : 21280729302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Foolohl g1 fohE 70 AIgYfH heia TR o “wEEr 9 s A ?

(1) =i§@H
(2) SEESH e
(3) TE R
(4) TEEEE T

Options :

212807117205. 1
212807117206. 2
212807117207. 3
212807117208. 4

Question Number : 68 Question Id : 21280729303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehensi0n |MCQ

Match List - I with List - I1.

List - 1 List - II
(A) Akbar Iy 1530
(B) Humayun (II) 1556
(C) Shah Jahan (III) 1605
(D) Jahangir (IV) 1628

Choose the correct answer from the options given below :
(1) (A-D, B)-D), (O-(11D), (D}-(IV)

(2) (A1), (B)-(II), (CO)-IT), (D)-(I)
(3)  (A)-(10), (B)-(I), (©)-(D), (D)-(IV)
(4)  (A)-(I), (B)-(I), (O)-(IV), (D)~(IIT)
Options :

2128071172009. 1
212807117210.2
212807117211.3
212807117212. 4

Question Number : 68 Question Id : 21280729303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tell-1 & Fell-11 1 foer $ifsu
1 Teit-11

(A) STHa @ 1530
(B) 1) 1556
(C) VISRl () 1605
(D) STRFTR (IV) 1628
== fqu e fashedi § 4 W&t I 1 =1 hY
(1) (A)-1), (B)y-(ID), (O)~(1m), (D)-(IV)
(2)  (A)-AV), (B)-(I), (O-(II), (D)-@)
(3)  (A)-D), (B)-III), (©)-(I), (D)-(IV)
(4)  (A)-D), B)-(1), (O~1V), (D)-(I)
Options :

212807117209. 1
212807117210. 2
212807117211. 3
212807117212. 4

Question Number : 69 Question Id : 21280729304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who was the officer of a Zamindar tasked with the collection of rent from the zamindari ?

(1) Amlah
(2) Mandal
(3) Amin

(4) Patwari

Options :

212807117213. 1
212807117214.2
212807117215.3
212807117216. 4

Question Number : 69 Question Id : 21280729304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

STHieR gr g 19 |1 sifsrl o1 S 38k SHiGRT & § T agell il o4 ?
(1) eTe

(2) wed
(3) erHIA
(4) T
Options :

212807117213. 1
212807117214.2
212807117215. 3
212807117216. 4

Question Number : 70 Question Id : 21280729305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the eighteenth century revenue records, the hill folk around Rajmahal hills were known as :

(1) Paharias

(2) Santhals

(3) Mowa

(4) Plamira
Options :

212807117217. 1
212807117218.2
212807117219. 3
212807117220. 4

Question Number : 70 Question Id : 21280729305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




FHOTRLE] Vel o oiea Afer@l § TsHEe WISl & UH Ygrel §498 Sl Il o
(1) &rel

Y

(2) HIA
(3)
(4) AN
Options :

212807117217. 1
212807117218.2
212807117219. 3
212807117220. 4

Question Number : 71 Question Id : 21280729306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In Bengal, the term “Raja” which literally meant king was often used to designate :
(1) Village Headmen

)
(2) Powerful Zamindars
(3) Rich Peasants

(4) Military Commander

Options :

212807117221. 1
212807117222.2
212807117223. 3
212807117224. 4

Question Number : 71 Question Id : 21280729306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el | s we Toren wifssen el wirEen @ sAfuehad ferdent Taf-ea sk e ?
(1) e 1 qiEa
(2) wfeR wedt STHiTR

(3) TR fwam
(4) T sAfwd
Options :

212807117221. 1
212807117222.2
212807117223. 3
212807117224. 4

Question Number : 72 Question Id : 21280729307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehensi0n |MCQ

Mark the year in which the first revenue settlement in Bombay Deccan took place ?
(1) 1800

(2) 1818
(3) 1820
(4) 1841
Options :

212807117225. 1
212807117226.2
212807117227. 3
212807117228. 4

Question Number : 72 Question Id : 21280729307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Sieg R T Teetl o sIelared ohel @l g3l 7
(1) 1800
(2) 1818
(3) 1820
(4) 1841
Options :

212807117225. 1
212807117226.2
212807117227. 3
212807117228. 4

Question Number : 73 Question Id : 21280729308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(A) Santhal Uprising () 1855 - 56
(B) Deccan Riot (I) 1861
(©) American Civil War (II) 1793
(D) Permanent settlement in Bengal (IV) 1875

Choose the correct answer from the options given below :
(1) (A)-D), B)-0), (-1, (D}-IV)
(2)  (A)-1V), (B)-(I), (C)-(D, (D)-(11)
(3)  (AHD), (B)-(IV), (O-(I), (D)-(11)
(4)  (A)-(), (B)-(IV), (O-(II), (D)-(11)

Options :

212807117229. 1
212807117230.2
212807117231.3



212807117232. 4

Question Number : 73 Question Id : 21280729308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TEit-1 § Gei-11 1 f5eT HifSu

i1 TI-11
(A) HTell 1 I () 1855 - 56
(B) SeFRA &M () 1861
(C) it TR I§ () 1793
(D) et B Tt sieered (IV) 1875
= feu T faskedi § 4 W&t W 1 FIIH B

(1) (A1), (B)-(1), (O)-(II), (D)-(IV)
(2)  (A)-AV), (B)-(1), (C)-(1), (D)-(II)
(3)  (A)-(0), (B)-(IV), (CO)-1I), (D)-(IT)
(4) (A, (B)-(IV), (O)-(1I), (D)-(II)
Options :

212807117229. 1
212807117230. 2
212807117231. 3
212807117232. 4

Question Number : 74 Question Id : 21280729309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which year did the British government force the Nawab of Awadh to sign the Subsidiary Alliance ?

(1) 1798
(2) 1801
(3) 1851
(4) 1856

Options :

212807117233. 1
212807117234.2
212807117235.3
212807117236. 4

Question Number : 74 Question Id : 21280729309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




forg a4 9 fafes w9 g0 199 o 9914 6l TeEs |y 9 g&ieR i & fou aga oo 0 ?

(1) 1798

(2) 1801
(3) 1851
(4) 1856
Options :

212807117233. 1
212807117234.2
212807117235.3
212807117236. 4

Question Number : 75 Question Id : 21280729310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who devised the system of ‘Subsidiary Alliance’ ?
(1) Lord Dalhousie
(2) Lord Cornwallis
(3) Robert Clive
(4) Lord Wellesley
Options :
212807117237. 1
212807117238. 2

212807117239. 3
212807117240. 4

Question Number : 75 Question Id : 21280729310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘s HiY’ guiel! ol e TR o ?

(1) T Serersi
(2) T HHATAH
(3) SR FeArEd
(4) TS Ferstal
Options :

212807117237. 1
212807117238.2
212807117239. 3
212807117240. 4

Question Number : 76 Question Id : 21280729311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




She was famous poet who wrote about the Rani of Jhansi - “Khoob lari mardani woh to Jhansi
wali rani thi”. Who was this poet ?
(1) Mahashweta Devi
(2) Tapti Roy
(3) Subhadra Kumari Chauhan
(4) Begum Hazrat Mahal
Options :
212807117241. 1
212807117242. 2

212807117243. 3
212807117244. 4

Question Number : 76 Question Id : 21280729311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

3 U guteg Ffafs off 5= S %1 v & o foan ' ga €l ve & d i aref T o) 3 wE
|t swfafe of ?

(1) W <&l

(2) Tt

(3) HWE FAN =rer
(4) STH TSRA HEA

Options :

212807117241. 1
212807117242.2
212807117243. 3
212807117244. 4

Question Number : 77 Question Id : 21280729312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Shah Mal was a rebel leader in 1857, who mobilised the agriculturalists of which of the following
regions ?

(1) Chaurasee Des

(2) 24 Pargana

(3) Rajmahal and Chhotanagpur hills

(4) Northern Sirkars

Options :

212807117245. 1
212807117246. 2
212807117247. 3
212807117248. 4

Question Number : 77 Question Id : 21280729312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

1857 & Tagiél wa1 ve ot 7, fa & & forami =1 enver foran 2
(1) =R <™

(2) 24 TETI
(3) TSHEA SR BN ETe!
(4) T TWHK

Options :

212807117245. 1
212807117246.2
212807117247. 3
212807117248. 4

Question Number : 78 Question Id : 21280729313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When the sepoys began their action with a signal, what is the first thing they did during the Revolt
of 1857 ?
(1) Issued Proclamations
(2) Plundered the treasury
(3) Attacked government buildings
(4) Seized the bell of arms
Options :
212807117249, 1
212807117250. 2

212807117251. 3
212807117252. 4

Question Number : 78 Question Id : 21280729313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el fquifedi o favra Sehd & |1 STUHT HRATS Y& I, IR 1857  fagig H Tgell =i 1 i ?
(1)  =reomgs S feen
(2) HEHERI @A # G
(3) TTHRI oAl U SHA
(4) ISR W sl
Options :
212807117249. 1
212807117250. 2

212807117251. 3
212807117252. 4

Question Number : 79 Question Id : 21280729314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Tamil word “Puram” is used for a :

(1) Village

(2) Town

(3) Temple

(4) City
Options :

212807117253. 1
212807117254.2
212807117255. 3
212807117256. 4

Question Number : 79 Question Id : 21280729314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
qfiet visg ' g’ o1 YART TR ST €
(1) i
(2) T
(3) Wi
(4) A
Options :

212807117253. 1
212807117254.2
212807117255. 3
212807117256. 4

Question Number : 80 Question Id : 21280729315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

On whose advice did Mahatma Gandhi spend a year travelling around British India after he returned
form South Africa in 1915 ?

(1) Rabindranath Tagore

(2) Gopal Krishna Gokhale

(3) Jawaharalal Nehru

(4) Kasturba Gandhi

Options :

212807117257 1
212807117258.2
212807117259. 3
212807117260. 4

Question Number : 80 Question Id : 21280729315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

1915 T Sfq07 SThTeR | wied I HeTcHl Tt 3 fohaeh TWHyl W Uk | a9 fafe9 YRa 1 J6 i 2

(1) Tet=1g 2

(2) TIUIA FOT MEA
(3) SEEA™ TE®
(4) RN e

Options :

212807117257. 1
212807117258.2
212807117259. 3
212807117260. 4

Question Number : 81 Question Id : 21280729316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which among the fo]lowing National Leader hailed from Maharashtra ?
(1) Lala Lajpat Rai
(2) Bal Gangadhar Tilak
(3) Bipin Chandra Pal
(4) Mahatma Gandhi
Options :
212807117261. 1
212807117262. 2

212807117263. 3
212807117264. 4

Question Number : 81 Question Id : 21280729316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
= 4 9 &F 9 U= 9q TR 9 9 ?

(1) Al A T
(2) =T TER faereR

(3) faft =g ara
(4) FETE T
Options :

212807117261. 1
212807117262.2
212807117263. 3
212807117264. 4



Question Number : 82 Question Id : 21280729317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Wherever Gandhiji went, rumours spread of his miraculous powers. From the four given sentences
find out the rumour which was not associated with Gandhiji ?

(1) Insome places it was said that Gandhiji had been sent by the king to redress the grievances
of the farmers.

(2) He had the power to overrule all local officials.

(3) He was receiving support from leaders of Vietham and South Africa for fighting against the
British.
(4) Gandhiji's power was superior to that of the English monarch.
Options :
212807117265. 1
212807117266. 2

212807117267. 3
212807117268. 4

Question Number : 82 Question Id : 21280729317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

T ST STl ot S SRt SRR Wil o 9N H Thare et 9t | feu T =R el § | 6 € oThare
el <t @ Helferd Tel € 2

(1) F SRl W He 7 fF it T g forami 6t forererdt 6t e & foe 99 #

(2) 3T U Heft T SR 6 fAE Rl eREiRd w i vfad 7

(3) T e ¥ Fog wred 5 ford e oI < ST % el & wed e v 1

(4) TR S R AT SIS USenE | oS v € |

Options :

212807117265. 1
212807117266. 2
212807117267. 3
212807117268. 4

Question Number : 83 Question Id : 21280729318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following book was written by David Hardiman ?
(1) Modern India

(2) Jawaharlal Nehru : A Biography

(3) Gandhi in his Times and Ours

(4) The Ascendancy of Congress in Uttar Pradesh 1926 - 1934

Options :
212807117269. 1



212807117270. 2
212807117271. 3
212807117272. 4

Question Number : 83 Question Id : 21280729318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=TH 9§ %F 9 g sfae giféam g ferat 15 2
(1) wred sfea

(2) AR TEE : T AT

(3) i 57 fest 2e e s

(4) TEH<H 3 HIUH 39 A U 1926 - 1934

Options :

212807117269. 1
212807117270.2
212807117271. 3
212807117272. 4

Question Number : 84 Question Id : 21280729319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following in Chronological order :
A) Non-cooperation Movement
B) Civil disobedience Movement

D) Jallianwala Bagh Massacre

E) Quit India Movement

Choose the correct answer from the options given below :
(1) (A) (B), (©), (D), (E)

2 ). (E)
(3) (D) (&), ©) (B), )
4) ). (E)
Options :

212807117273. 1

212807117274.2

212807117275. 3

212807117276. 4

(
(
(C) Demand for ‘Purna Swaraj’
(
(

—

Question Number : 84 Question Id : 21280729319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




= fou fawredi § 9 W&t ST 1 599 H
(1)  (A), (B), (©), (D), (E)

(2) (B), (A), (D), (©), (E)

(3) (D) (A), (C), (B), (E)

(4)  (©), (A), (B), (D), (E)

Options :

212807117273. 1
212807117274.2
212807117275. 3
212807117276. 4

Question Number : 85 Question Id : 21280729320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In how many provinces did the congress ministries come to power from 1937 - 39 elections ?

(1) Eleven

(2) Seven

(3) Four

(4) Ten
Options :

212807117277. 1
212807117278.2
212807117279. 3
212807117280. 4

Question Number : 85 Question Id : 21280729320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

1937 - 39 & A6l | foha W=l | hiUd HEHUSA Heal § 3™ ?
(1) ™
(2) &
(3) =R
(4) <4
Options :

212807117277. 1



212807117278.2
212807117279. 3
212807117280. 4

Question Number : 86 Question Id : 21280729321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When did the ‘Great Calcutta Killings” take place ?
(1) May 1946
(2) June 1946
(3) July 1946
(4) August 1946
Options :
212807117281. 1
212807117282. 2

212807117283. 3
212807117284. 4

Question Number : 86 Question Id : 21280729321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

F9 ‘YFAG HARE TN T8 ?
(1) ¥ 1946

(2) S 1946

(3) SIS 1946

(4) 3TE 1946

Options :

212807117281. 1
212807117282.2
212807117283. 3
212807117284. 4

Question Number : 87 Question Id : 21280729322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

During the early session of Constituent Assembly who prepared that ‘Hindi" be used as the language
of constitution making :

(1) R.V. Dhulekar
(2) Motilal Nehru
(3) B.R. Ambedkar
(4) K.M. Munshi

Options :
212807117285. 1



212807117286. 2
212807117287. 3
212807117288. 4

Question Number : 87 Question Id : 21280729322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

wfawm g % wrfies w5 | foram dfaym i § R v & =i i aeeer )
(1) STREL Yedaht

(2) WA TEE

(3) AR PEESHL

(4) .. HH

Options :

212807117285. 1
212807117286. 2
212807117287. 3
212807117288. 4

Question Number : 88 Question Id : 21280729323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who stated in the Constituent Assembly “we have not used the word “democratic” because we
thought it is obvious that the word “republic” contains that word”?

(1) Jawaharlal Nehru

(2) Sardar Vallabhabhai Patel

(3) B.R. Ambedkar

(4) N.G. Ranga

Options :

212807117289. 1
212807117290. 2
212807117291. 3
212807117292. 4

Question Number : 88 Question Id : 21280729323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




o =15 dfqum @ § = Ywiferd fon fF e =@l ' drend e’ wse saferd 721 wan wifer 39 9= § fh
‘T v H 7 wieg e €2

(1) e T8%

(2) HER FCAYHE o

(3

) L3R, TS
(4) TASE &
Options :

212807117289. 1
212807117290. 2
212807117291. 3
212807117292. 4

Question Number : 89 Question Id : 21280729324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In which list provided in the Constitution of India, both centre and state share responsibility ?
(1) Union List

(2) State List

(3) Concurrent List

(4) Union Territory List

Options :

212807117293. 1
212807117294.2
212807117295. 3
212807117296. 4

Question Number : 89 Question Id : 21280729324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

R T e e ¥, e oit T S st Rt @ et #2
(1) ==

(2) TEAYH

(3) FHadl g

(4) <herg sifyenfad T =

Options :

212807117293. 1
212807117294.2
212807117295. 3
212807117296. 4

Question Number : 90 Question Id : 21280729325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

Arrange the following major developments in chronological order that led to the formation of the
Constitution of India.

(A) Executive was made partly responsible to the provided legislature.

(B) Elections were held under Government of India Act in which Congress won in 8 provinces.
(C) Draft Constitution was introduced.

(D) Promoted Election which led to the creation of the Constituent Assembly.

(E) Jawaharlal Nehru moved Objective Resolution.

Choose the correct answer from the options given below :

1 (A (©), D), E), (B)

(2) (D) (©), (A), (E), (B)
(3) (D) (A) (E), (B), (C)
(4) (A), (B), (D), (E), (O)
Options :

212807117297. 1
212807117298. 2
212807117299. 3
212807117300. 4

Question Number : 90 Question Id : 21280729325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frefafad e =il 1 IR Sfagm & 901 2 sidTd SeshaaRr safed &1
(A) wriafas &1 sifes &9 | wide faufre % gfa Scgrft s=en T |

(B) ATA &t YRA TehR il o srdvia g1 fSred s A 8 urdi | fers i <Rl |
(C) Hfar &y 1 737 g3l |
(
(

D) Hfau™ |41 % e o fofu gl bl g &f T |
E) Samldd 48 A 389 g uv fora |

o fou fasredl § 9 W& 3T 1 997 *Y

(A), (©), (D), (E), (B)

s

Options :

212807117297. 1

212807117298.2

212807117299. 3

212807117300. 4

Sub-Section Number : 2
Sub-Section Id : 2128072127
Question Shuffling Allowed : No

Is Section Default? : null



Question Number : 91 Question Id : 21280729326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the following question :

“There were several archaeological cultures in the region prior to the Mature Harappan. There
cultures were associated with distinctive pottery, evidence of agriculture and pastoralism, and
some crafts. It appears to be a break between the early Harrapan and the Harrapan civilisation,
evident from large-scale burning at some sites, as well as abandonment of same settlements.”

The terracotta models of plough have been found at which site ?
(1) Mohenjodaro

(2) Banawali

(3) Dholavira

(4) Lothal

Options :

212807117301. 1
212807117302.2
212807117303. 3
212807117304. 4

Question Number : 91 Question Id : 21280729326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

FrAfafaa ey it sarmgde uewy, fod T3 ug & I S

39 &7 T fasfad ggon 4 vea off o2 depfaal sifeaea o of | 3 dekfaar st fafire geamve deft 9
darg off qen 37k gy § 28 iy, g aon &9 Freusd & e oft fiea €)1 afiaal sar W et
Bt off 3 TTH 9 SRR Y TIFATE ST 7 % SIeR off | F el W T YA W gereh] H Sl ST %
Hehdl ¥ T F 3 Rl o AN U S F UE yofta 2 § fof sTRfver 5o e ggu e o o
SHH-9T |

fore T § vkl gl & ga o1 el ure gam ?
(1) TrTsEe

(2) dHEE

(3) HrerE

(4) A
Options :

212807117301. 1
212807117302.2
212807117303. 3
212807117304. 4

Question Number : 92 Question Id : 21280729327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension Compl

Read the passage and answer the following question :

“There were several archaeological cultures in the region prior to the Mature Harappan. There
cultures were associated with distinctive pottery, evidence of agriculture and pastoralism, and
some crafts. It appears to be a break between the early Harrapan and the Harrapan civilisation,
evident from large-scale burning at some sites, as well as abandonment of same settlements.”

The site of shortughai in Afganistan sources which material for craft production ?
(1) Copper metal
(2) Carnelian
(3) Steatite
(4) Lapis Lazuli
Options :
212807117305. 1
212807117306. 2

212807117307. 3
212807117308. 4

Question Number : 92 Question Id : 21280729327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Frafafaa v ot smuds g, fod T vy o I S

39 &7 H fasfad ggo 4 ved off 2 depfaal sifeaa | of | 3 denfaar st fafire gemve def 9
Hag off au1 396 dey § & Y, Ty 9o Fo feuwd & g of faea €)1 afear SR W) Se
Bl off 2R 370 9 STRR il HEEAT ST A & oReR off | F9 Tei W 98 YA W 3R] § e S &
Hehdl ¥ TN F 3 WAl o AN U S H UE Yoftq 2 ¥ foh sTifvres ggom e ggv | o e
HH-ST o7 |

HARIETH H AGeE €20t § f¥eq 3eureA § Haiferd shie Hi &rg ured Sil off ?

(1) disl i ©1g
(2) wHHTAE
(3) VorEeEr

(4) TSR A0
Options :
212807117305. 1
212807117306. 2
212807117307. 3
212807117308. 4

Question Number : 93 Question Id : 21280729328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the passage and answer the following question :

“There were several archaeological cultures in the region prior to the Mature Harappan. There
cultures were associated with distinctive pottery, evidence of agriculture and pastoralism, and
some crafts. It appears to be a break between the early Harrapan and the Harrapan civilisation,
evident from large-scale burning at some sites, as well as abandonment of same settlements.”

Arrange the following developments of ‘Harrapan Archaeology” in chronological order :
(A) S.R. Rao begins excavations at Lothal.

(B) R.S. Bisht begins excavations at Dholviara.

(C) B.B. Lal excavates at Kalibangan.

(D) R.E.M. Wheeler excavates at Harappa.

(E) MLS. Vats begins excavations at Harappa.

Choose the correct answer from the options given below :
(1) (D), (B), ©) (A), (B)

(2)  (B) (D), (A), (©), (B)
3) (D) (B), B), (A), (O
(4) (B) (D), (B), (A), (©)

Options :

212807117309. 1
212807117310.2
212807117311.3
212807117312. 4
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(1) (D) (B), ) (A), (B)
(2)  (E) (D), (A), (©), (B)
(3) (D) (B), (B), (A), (O
(4) (B) (D) (B), (4), ()
Options :

212807117309. 1
212807117310. 2
212807117311.3
212807117312. 4
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Read the passage and answer the following question :

“There were several archaeological cultures in the region prior to the Mature Harappan. There
cultures were associated with distinctive pottery, evidence of agriculture and pastoralism, and
some crafts. It appears to be a break between the early Harrapan and the Harrapan civilisation,
evident from large-scale burning at some sites, as well as abandonment of same settlements.”

Identify the statements which are “true” for Harrapan Civilisation.
(A) Animals were not domesticated in Harrapan culture.

(B) Evidence of ploughed field have been found at Kalibangan.
(C) Traces of canals have been found in Punjab and Sind.

(D) Water reservoirs have been found in Dholavira.

(E) Mohenjodaro has been identified as planned Urban Centre.
Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (), (©), (D) only

(3) (B), (D) (E) only

(4)  (©), (D), (E) only

Options :

212807117313. 1
212807117314.2
212807117315. 3
212807117316. 4
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Read the passage and answer the following question :

“There were several archaeological cultures in the region prior to the Mature Harappan. There
cultures were associated with distinctive pottery, evidence of agriculture and pastoralism, and
some crafts. It appears to be a break between the early Harrapan and the Harrapan civilisation,
evident from large-scale burning at some sites, as well as abandonment of same settlements.”

Match List - I with List - I1.

List - 1 List - II
(A) Bead-Making (I) ~ Bharuch
(B) Copper (II) Nageshwar
(C) Shell Objects (III) Khetri
(D) Carnelian (IV) Chanhudaro

Choose the correct answer from the options given below :
(1) (A)-O), (B)y-(ID), (O)-(111), (D)-(IV)

(2)  (A)-1V), (B)-(D), (O-1I), (D)-[@)

(3)  (A)-IV), (B)-(1I), (O-@), (D)}-(I)

(4)  (A)-(), (B)-(IV), (O-(II), (D)-(IT)

Options :

212807117317. 1

212807117318.2

212807117319. 3
212807117320. 4
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Hag off a1 37k dey § 2 Y, gy 9o Fo foeuswd & g of faea €)1 afear SR W) SR
Bt off 3 g7 9 SRR Y TIFATE ST 7 % SR off | F el W T YA W g H Sl ST
Hehdl ¥ T F 3 Rl o AN U S F UE yofta 2 § fof sTRfver 5o e ggu e o o
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1 geit-11
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(1) (A)-(D), (B)-(II), (O)-(11), (D)-(IV)

(2) (A)-(1V), (B)-(II), (O)-(), (D)-()

(3)  (A)-IV), (B)-(LI), (O)-(), (D)-(II)

(4) (A)-1), (B)-(IV), (O)-(II), (D)-(II)

Options :

2128071173171
212807117318.2
212807117319. 3
212807117320. 4
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Read the passage and answer the following question :

“Krishnadeva Raya’s rule was characterised by expansion and consolidation. Lands between
Tungabhadra and Krishna river were acquired. The Kingdom remained in a constant state of
military preparedness, it also developed peace and prosperity. Krishnadeva Raya is credited of
building temples and township in Viajayanagra.”

Name the first dynasty which exercised control over Vijayanagara Empire till 1485 :
(1) Tuluvas

(2) Saluvas

(3) Sangama

(4) Aravidu

Options :
212807117321. 1



212807117322.2
212807117323. 3
212807117324. 4
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Read the passage and answer the following question :

“Krishnadeva Raya’s rule was characterised by expansion and consolidation. Lands between
Tungabhadra and Krishna river were acquired. The Kingdom remained in a constant state of
military preparedness, it also developed peace and prosperity. Krishnadeva Raya is credited of
building temples and township in Viajayanagra.”

Which dynasty got central of the centre by 1546 and ruled from Penukonda ?
(1) Naidu
(2) Aravaidu
(3) Sangama
(4) Saluvas
Options :
212807117325. 1
212807117326. 2

212807117327.3
212807117328. 4
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Read the passage and answer the following question :

“Krishnadeva Raya’s rule was characterised by expansion and consolidation. Lands between
Tungabhadra and Krishna river were acquired. The Kingdom remained in a constant state of
military preparedness, it also developed peace and prosperity. Krishnadeva Raya is credited of
building temples and township in Viajayanagra.”

Arrange the following events in chronological order :

(A) Battle at Rakshasi - Tangadi.

(B) Formation of township called Nagalapuram.

(C) Aravidu ruled from Chandragiri.

(D) Saluva dynasty replace by Tuluva dynasty.

(E) Sultan of Bijapur defeated by Krishnadeva Raya.

Choose the correct answer from the options given below :

(1) (A), (B), () (D), (E)
(2) (D) (B), (B), (A), (©)
3) (©), (A). (B), (D), (E)
4) (D) (B), (©), (B), (A)
Options :

212807117329. 1
212807117330. 2
212807117331. 3
212807117332. 4
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(1) (A), (B), (Q) (D), (E)
(2) (D) (B), (B), (A), (C)
(3)  (©), (A), (B), (D), (E)
(4) (D), (B), (), (B), (A)
Options :

212807117329. 1
212807117330.2
212807117331. 3
212807117332. 4
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Read the passage and answer the following question :

“Krishnadeva Raya’s rule was characterised by expansion and consolidation. Lands between
Tungabhadra and Krishna river were acquired. The Kingdom remained in a constant state of
military preparedness, it also developed peace and prosperity. Krishnadeva Raya is credited of
building temples and township in Viajayanagra.”

Identify the statements which are ‘true’ for Vijayanagara Empire.

(A) The rulers of Vijayanagara Empire called themselves ‘Nayaks’'.

(B) In 1565, Krishnadeva Raya led battle at Talikota.

(C) The rules of Orissa were subdued by Krishnadeva Raya.

(D) The ‘amara-nayakas’ system was a major innovation of Vijayanagara Empire.

(E) Vijayanagara was the name of both city and an Empire.

Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (B), (D), (E) only

(3)  (A), (©), (E) only

4) (O (D), (E) only

Options :

212807117333.1
212807117334.2
212807117335. 3
212807117336. 4
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Read the passage and answer the following question :

“Krishnadeva Raya’s rule was characterised by expansion and consolidation. Lands between
Tungabhadra and Krishna river were acquired. The Kingdom remained in a constant state of
military preparedness, it also developed peace and prosperity. Krishnadeva Raya is credited of
building temples and township in Viajayanagra.”

Match List - I with List - I1.

List - 1 List - II
(A) Establishment of Bahamani Kingdom () 1435
(B) Establishment of Vijayanagara Empire (I) 1347
(C) Establishment of Delhi Sultanate (IT) 1336
(D) Establishment of Gajapati Kingdom (IV) 1206

Choose the correct answer from the options given below :
(1) (A)-0), (B)y-(ID), (O)-(11), (D)-(IV)

(2) (A1), (B)-(I), (©)-(1V), (D)-{0)
(3)  (A)-D), B)-V), (©)-(I), (D)-()
(4)  (A)-D), (B)-(IT), (O-(1V), (D)~(IM)

Options :

212807117337. 1
212807117338.2
212807117339. 3
212807117340. 4
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(C) feoelt Teawd st Ter () 1336
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=1 feu U foashedi H | T@ 3T 1 FIT Hhi
(1) (A)-D), (B)-(ID), (O)-(I1I), (D)-(IV)
(2) (A, (B)-(I), (©)-(IV), (D)-I)
(3)  (A)(II), (B)-(IV), (C)-(IMI), (D)-(I)
(4)  (A)-D), (B)}-(II), (O)-(1V), (D)-(II)
Options :

212807117337. 1
212807117338.2
212807117339. 3
212807117340. 4



